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COMMERCE
(Skill Enhancement Course)

Answer the Questions from any one Option.

OPTION-A
( E-Commerce)
Paper : COM-SEC-4014
OPTION -B
( E-Filing of Returns)
Paper : COM-SEC-4024

Full Marks : 50
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
Paper : COM-SEC-4014

( E-Commerce)

1. Answer any four from the following :
1x4=4

AseReriT o[t R bifebT Tt faa

(i) E-Commerce refers to
I @
(a) buying products
AN & 3
(b) selling services

CRPTR [t 1
(c) selling products

Al R =4
(d) All of the above

G AR

(i) Which segment focuses on consumers
dealing with each other ?

(FIFCH! QG AT LG PSR TS (TR0
e a3y e

(@ C2C

TR
(v) B2B

ISR
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(c) C2B
o

(d) P2P
isf

(iii) Electronic commerce can increase sale
and costs. (Fill in the blank)

A ez R & IR i =%

I (T 312 77 70)
(iv) 1P stands for

iz I O (TR

(o) Internet Protocol

THREG 2ToReT

(b) Internet Programming
THIREG 2

(c) Internal Program
ORI I

(d) Intra Program
Exakanin

(v) Internet is owned by

TBREG N

(a) Microsoft Corporation

Wiewes oA

(b) Tata play
BiBt c2
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(c) Facebook

PO
(c) None of the above
GRRRT @RS T
(vi) E-payment is doing payment .
(Fill in the blank)
ToRoNa Tz R ERICS W ARG |
(0Tt 312 231 1)
(vii) E-marketing provides
TAEBTS &M I
(a) national coverage
FF FOES
(b) local coverage
BN TS
(c) global coverage
CIF N FoIIS
(d) None of the above
GERITT G T
(viiij) <BODY> is a tag.
(Fill in the blank)
<BODY> &5 wfl
(3T 1% 73 1)

4 (Sem-4/CBCS) SEC 12 E-COM/ERR/G 4



2. Answer any three: 2x3=6
Rzt fofzia Tes o ¢

(i) What is an e-business model ?
TRAIER I e

(i) What is a digital signature ?
fesa T e

(iii) State few advantages of web add.
@ Rlola (DI R4 T 4 |

(iv) Define e-wallet.
BIC=63 el |

(v) What is cryptography ?
oot e

(vi) What is phishing ?
R e

3. Write short notes on : (any two) 5x2=10
59 (ot forat 8 (Rieereant gt)

() E-commerce revenue model

TG IR T
(i) Basic structure of a HTML page

<51 G2HeTGs PR GfE SR
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4.

(iii) Technology used in e-commerce
23T TS oY

(iv) Online banking
SeTied R

(v) IT Act, 2000
w12 @3, 2000

(vi) Cryptography
[ERADIES

Answer any three : 10x3=30

Rzt fofabraTes i ¢

(i) Define lists. Explain different types of
lists used in HTML with one simple
example. 2+8=10
SifeTe kel x| Bt e rize (e
I Hanee-o Jage [ier g oifemt 36
A

(i) Write the salient features of the IT Act,
2000.
=iz @3, 2000-7 2 WHRBIRE B |

(i) What is online shopping ? Explain

different steps involved in the online
shopping process. 2+8=10
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reniRn R 2 oeize Wi elfdrre suge
Rfex sMrwsicaR 39 31|

(iv) What is electronic payment system ?
Describe different methods of electronic

payment system. 2+8=10
RS ARy 2 [Re wghe AReiny
AR RS o1afS 3t =1

(v) Write about different factors involved in
e-commerce website design.

TS RRY wizre wwge [on s
R e |

(vi Write about different steps and
techniques for promoting an
e-commerce wehsite.

6 (RGP B 25IRT AR Riew smewst
iR (e Ko T

(vii) Describe e-commerce security threats.

2]1fey JwR ORfSE I =1 |

(viii) Describe the major e-commerce
business models.

2 -G IRAT TCTETRI I 71 |
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OPTION-B
- Paper : COM-SEC-4024
( E-Filing of Returns )

1. Say whether the following statements are
True or False : (any four) 1x4=4

vt frt RYfomR va @ owm Rt ¢ (R
51f3519) ‘

(i) E-Filing is mandatory for a company.
&5l @IS W E-Filing I = |

(i) Filing of ITR is compulsory if a tax payer
has deposited an amount of Rs. 1 crore
or more in one or more than one current
account.

R G SIS (I G5 A STIET @R
5foTe RGBS G (I A oL Wi Bl T
QT (A ITR WRE B! IgoEe
| |

(iii) A person can hold at least two PAN.

e JYfEE &f© FL78 75! PAN iR AT |

(iv) Assessment year is always a period of
12 months.

fdivd < omig 12 I
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(v) For submitting Form 15G, the applicants
must be below 60 years of age.

Form 15G &l 3{ I MREAIR 990
60 IR TR LI AR |
(vi) IGST is collected by State Government.

TIPS GST MY HIE TRAZ I |
(vii) GST signifies one state many tax.

GST (@43 ey IL I pis

(viii) The burden of GST is borne by the
. consumer. '

GST I Q& TSR IT TR
2. Answer any threé of the following questions :
2x3=6
AnfElRe emir R v Tes 31
(@ Whatis ITR-V?
ITR-V &2

(b) What is digital signature certificate
(DSC) ?

Digital signature certificate (DSC) e
(c) What do you mean by total income ?

o oE 3feree R gene
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(d) Explain briefly about TAN.
TAN I R 550 T 0|

(e) What do you mean by Form 16A ?
16A o I [ et 2

(1 Write short note on ITR-1.

ITR-1 ¥ 8°[F® 53 (I ol |

3. Answer the following questions : (any two)
5x2=10

woi] ok Tes ot 8 (Ricieant 7o)

(a) State any five differences between

E-filing and manual filing of returns.

E-filing % 28511 39 &ifSrwm nifdet 919
Niere A1 Rigwicar 25! i< &

(b)) Mention any five disadvantages of

manual filing of returns.

zwoifeTe 31 Afean WiRkel I R “ffsor
PRy B 3|
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(c) Explain the structure of PAN.
PAN F 2+ 3~9{T& i1 <41 |

(d) Who are responsible for deducting tax
at source ?

T T TE TR VTG IR SIS Goft 71
q°?

(e) Write a short note on GSTR-1.
GSTR-1 3 8%F% 53 (51t fovait|

() Write the names of any five specified
financial transactions in which quoting
of PAN is mandatory.

Rzt s Reva Rew R i ol 3
PAN (&4 IO LIS |

4. Answer the following questions : (any three)
10x3=30

| oo ST G ol ¢ (et fefibt)
(@) Mr. Raghab Baruah, aged 45 years, is

employed in a public sector company.
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During the previous year 2021-22, he
received a basic salary of ¥1,00,000 p.m,
dearness allowance 50% of basic salary,
house rent allowance 340,000 p.m. and
special allowance of ¥10,000 p.m.
Mr. Baruah resides in a rented house at
Guwahati and the rent paid by him is
30,000 p.m. He maintains a savings
bank account with HDFC Bank and
during the previous year 2021-22,
240,000 was credited in his bank

account as interest.

During the previous year, he had paid
60,000 as life insurance premium and
25,000 as medical insurance premium

through net banking.

Compute his tax liability if Mr. Baruah

opts for old regime.
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QNN IR I3, I 45 IRF OIS B! TR
AfSDTE TS 1 2021-22 2AREF IHS (STATS
I vy @S Wz 1,00,000 T/, TINA A
6 VINRIT 50%, 99 OISl ©iG 40,000 531 &fS
TIZ SR R ©iB 71t2 10,000 51 117 | S
IR A6 Bl OISl 7T IF IF = oS
Wtz 30,000 Bt ©IGT SfR{TaNY IR | (STIeF
HDFC RIS b 7w fRpiot Sitg =i G
A8 7 2021-22 © 3= % 40,000 Tt
STl 2 |

COTRTS R T 7 60,000 535t =1=: o et
AT IR 25,000 537 (6 (IR 711t ARy
IE| ‘

533 9 TR SPAICT S /AR 5 T
I Fafe =t 1

(b) Write a note on various provisions of the

new tax regime.

T 39 AT R I R «afb (Bret forit 1
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(c) Explain various types of TDS certificates
along with their applicability and related
provisions.
Rfea TDS certificates IRIT TR IR 1ICS
T IR T FEH Rtz 3¢t
=l .

(d) Explain the contents of Form 16.
Form 16 3 pPRR I 31 |

(e) Explain various ways of verification of
ITR submitted by an assessee.

ITR %IfR% o4 311 RiSH orgpmg i |

1] | Explain various ITR forms used by
different types of assessees.

Rfen TMIoIR IRTR 31 RRGA ITR o
Rt ot | '

(99 What is E-filing ? Mention four
advantages and four limitations of
E-filing. '

E-filing B¢ E-filing 3 513G R4 9= 51361
AR T 4 |
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(h) Write various steps of computation of
total income.

5 o et 721 Riew seomg et
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